Math 280 Practice Final Exam

1.  Evaluate.
      a. 
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2.   Test the given series for convergence. State the test you use and clearly fulfill all the requirements. 
      a.  
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[image: image7.wmf]2

2

0

4(1)

(53)

nn

n

n

n

n

¥

=

+

+

å


3.   Determine the interval of convergence for 
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4.   a. Write a power series representation for 
[image: image9.wmf]2

1

2

x

e

-

using  
[image: image10.wmf]23

0

1

!2!3!

n

x

n

xxx

ex

n

¥

=

==++++

å

L


      b. Evaluate 
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 to within 0.001. 
5.   Given the general form of a Taylor polynomial 
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      a. Find the Taylor series for 
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 centered at a = 4.
      b. Use the series you found to approximate 
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 correct to four places. Compare to the actual value.
6.   The cycloid is the curve traced out by a point P on the circumference of a circle as the circle rolls 
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      along a straight line. The cycloid from a circle of radius 1 can be written using the parametric equations
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      a. Find the equation of the tangent line at
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      b. Find the area under the curve over the interval
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            Hint: start with 
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7.    Find the slope of the tangent line to 
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8.    Rewrite the polar functions or points as Cartesian in a and b, and vice versa in c and d.

       a. 
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